Prof. K. Stevens

Theory 1

Chap.11

Chapter 11: Depreciation and Depletion

Retirement or Replacement:  Depreciation expense recognized at time asset replaced/retired


1. Retirement: cost of old asset - salvage value = 
dep. expense


2. Replacement:  cost of new  asset - salvage 
value of old 
asset = dep. expense

Example: Commonwealth Edison replaces 10 poles by paying $100 each . Book value of the old poles = $50 each; salvage value = $10 each



Retirement



Replacement

Purchase:

Poles
   

500


Poles
   
500


Cash
 
 
500


Cash

500

Cash


100

Dep. expense
400


      No


Old poles

500 
         


Entry

New poles
1,000

 
dep. exp. 
900


Cash

  1,000


 Cash

900

Notice: when the Replacement method is used, the original cost of the poles never leaves the books.

Group (similar assets)  and  Composite (dissimilar assets) depreciation

a. All assets recorded in one "Group" or "Composite" account

b. Depreciation expense based on average rate of depreciation per group x "Group" account

c. When assets retired, credit group or composite asset account for original cost of asset and debit Acc. Dep for  (original cost of asset - any cash received for salvage value). 



Note: No gain/loss is recognized for difference between book value and cash received (salvage value)

Example:
Cost
SV


Life

Dep.
Planes
     21,000   
1,000

10

2,000

Trains       105,000   
5,000           
20

5,000

Auto-

mobiles      15,000  
3,000               3          4,000

    
  141,000   
9,000 

            11,000


11,000/141,000 = 7.8% average dep. rate

Purchase:


Composite Asset

141,000



Cash




141,000

Depreciation


dep. expense*

11,000




Acc. Dep.


     
11,000


Retire the car and get $12,000 in cash for salvage value


Cash
 

  
12,000


Acc. Dep.**

  
  3,000



Composite Asset

    
15,000

*
7.8% x (141,000) = 11,000

**
Cost of $15,000 - Cash of $3,000

II. Depletion: allocation of the cost of natural resources (e.g., oil and gas)


A. Costs of natural resources



1. Acquisition of rights (e.g., rights for oil)



2. Exploration



3. Development




a. tangible equipment (e.g.,  oil tanker)




b. intangible equipment (e.g., oil well 



shaft)


B. Area of controversy: what part of the exploration costs 
should be capitalized (debit an asset account and expense (deplete)  over the life of the asset) and what part should be expensed currently


1. Successful efforts accounting: capitalize only the exploration costs of successful projects (e.g., productive oil wells) and expense exploration costs for unsuccessful projects (e.g., dry wells)


2. Full-cost accounting: capitalize all exploration costs whether successful projects or not


C. Amount of depletion: Cost per unit x number of 
units extracted

Cost per unit = Total cost/Total estimated units 

Example: J. Clampett Co. spends $40,000  exploring for oil at the site of Well #1 and $60,000 at the site of Well #2. Clampett also  buys two rights to drill for oil at those  sites for  $100,000 each. Clampett also spent $80,000 on oil derricks with a ten year life that can be disassembled and used again.  An estimated 50,000 barrels of oil is discovered at Well #1 and 5,000 barrels are produced this year. Well #2 is dry.

Successful efforts


derricks



  80,000


loss




100,000*


exploration expense      60,000**


Oil well #1


100,000***


Oil Well #1
 

  40,000****



Cash





380,000

*
$100,000 of the acquisition rights are a loss 
because no oil was found at Well #2 

**
The exploration costs for the unsuccessful well 
are expensed

***
$100,000 of the acquistion rights is debited to the 
asset because oil was found at Well #1.

**** 
The exploration costs for the successful well are 
capitalized

depletion expense*

14,000


Acc. depletion

   

14,000

depreciation expense
  
8,000


acc. depreciation



8,000

*140,000/50,000 = $2.80 per barrel. $2.80 x 5,000 = $14,000

**80,000/10 years

Full-cost:



derricks



  80,000


loss




100,000


Oil well #1


200,000



Cash





380,000

*
$100,000 of the acquistion rights are a loss 
because no oil was found at Well #2 

**
The exploration costs for both the unsuccessful 
and the 
successful well are capitalized. Also, 
$100,000 of the acquisition rights is debited to the 
asset because oil was found at Well #1.

**** The exploration costs for the successful well are 
capitalized

depletion expense

20,000


Acc. depletion

   

20,000

200,000/50,000 = $4.00 per barrel. $4.00 x 5,000 = $20,000

In January 1994, Worst Co. purchased a mineral mine for $2,640,000 with removable ore estimated at 1,200,000 tons.  After it has extracted all the ore, Worst will be required by law to restore the land to its original condition at an estimated cost of $180,000.  Worst believes it will be able to sell the property afterwards for $300,000.  During 1994, Worst incurred $360,000 of development costs preparing the mine for production and removed and sold 60,000 tons of ore.  In its 1994 income statement, what amount should Worst report as depletion? 

a. $135,000

b.$144,000
c. $150,000

d. $159,000

($2,640,000 + $180,000 +$360,000 - $300,000)/ 1,200,000 tons = cost per unit of $2.40 x 60,000 units sold = $144,000 CGS.

IV. Miscellaneous depreciation issues

MC. Depreciation is computed on the original cost minus estimated salvage value under which of the following depreciation methods?

     Double-Declining-Balance          Productive-Output
a.
     No                     


No 

b.
     No                     


Yes

c.
     Yes                    


Yes

d.
     Yes                   


 No 

All depreciation methods except DDB multiply some rate x Depreicable Cost (cost - salvage value). DDB is the only method that ignores salvage value in calculating depreciation expense. Instead, DDB multiplies a constant rate x a declining book value (cost - acc.dep. to date)

MC. A machine with a 4-year estimated useful life and an estimated 10% salvage value was acquired on January 1, 1993.  The depreciation expense for 1995 using the double-declining-balance (DDB) method is original cost multiplied by

a. 90% x 50% x 50% x 50%.

b. 50% x 50% x 50%.

c. 90% x 50% x 50%.

d. 50% x 50%.

50% (2/4 years) x (original cost - acc. dep.) Notice that after three years, only 1/4 of the original cost is left:

Year 1: 
50% x Original Cost, or 50% left as book value

Year 2:
50% x 50% book value, or 25% left as book value



MC. On January 2, 1991, Cole Co. signed an 8-year noncancelable lease for a new machine, requiring $15,000 annual payments at the beginning of each year. The machine has a useful life of 12 years, with no salvage value.  Title passes to Cole at the lease expiration date.  Cole uses straight-line depreciation for all of its plant assets.  Aggregate lease payments have a present value on January 2, 1991 of $108,000, based on an appropriate rate of interest.  For 1991, Cole should record depreciation (amortization) expense for the leased machine at 

a. $0

b. $9,000
c. $13,500 

d. $15,000 

Because title passes, depreciate asset as if any other purchased long-term asset.

MC. A fixed asset with a 5-year estimated useful life and no residual value is sold at the end of the second year of its useful life.  How would using the sum-of-the-years'-digits method of depreciation instead of the double-declining-balance method of depreciation affect a gain or loss on the sale of the fixed asset? 

          Gain               
   Loss        

  a.   Decrease           
Decrease

  b.   Decrease           
Increase
  c.   Increase           
Decrease

  d.   Increase           
Increase

DDB is the fastest depreciation method; therefore, book value would be higher for SYD  than DDB, making gains/losses (lower)/higher under SYD.

MC. On January 2, 1995, to better reflect the variable use of its only machine, B. Holly, Inc. elected to change its method of depreciation from the straight- line method to the units-of-production method.  The original cost of the machine on January 2, 1993 was $50,000, and its estimated life was 10 years. B. Holly estimates that the machine's total life is 50,000 machine hours. Machine hours usage was 8,500 during 1994 and 3,500 during 1993.  Holly's income tax rate is 30%.  B. Holly should report the accounting change in its 1995 financial statements as a(n) 

a. Cumulative effect of a change in accounting principle of $2,000 in its income statement.

b. Adjustment to beginning retained earnings of $2,000.

c. Cumulative effect of a change in accounting principle of $1,400 in its income statement.

d. Adjustment to beginning retained earnings of $1,400.

S-L depreciation:


$10,000

($5,000/yr)

Units of Prod.


$12,000 

($1/unit)

Difference



$  2,000

x (1-.30)





x 70%
=





$  1,400

1
10

